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narjmWu H$moS >H$mo CÎma-nwpñVH$m Ho$ _wI-n¥ð 
>na Adí` {bIo§ & 
Candidates must write the Code on the 

title page of the answer-book. 

  H$moS> Z§.    

 Code No. 

amob Z§. 
Roll No. 

 

 
 

 ZmoQ>  NOTE 

(I) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV 
n¥ð> 15 h¢ & 

(I) Please check that this question 

paper contains 15 printed pages. 

(II) àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS 
>Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

(II) Code number given on the right 

hand side of the question paper 

should be written on the title page of 

the answer-book by the candidate. 

(III) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _|  
>42 àíZ h¢ & 

(III) Please check that this question 

paper contains 42 questions. 

(IV) H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go 
nhbo, CÎma-nwpñVH$m _| àíZ H$m H«$_m§H$ 
Adí` {bI| & 

(IV) Please write down the Serial 

Number of the question in the 

answer-book before attempting it. 

(V) Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m 
g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU 
nydm©• _| 10.15 ~Oo {H$`m OmEJm &   
10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db 
àíZ-nÌ H$mo n‹T>|Jo Am¡a Bg Ad{Y Ho$ Xm¡amZ 
do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

(V) 15 minute time has been allotted to 

read this question paper. The 

question paper  will  be  distributed 

 at 10.15 a.m. From 10.15 a.m. to 

10.30 a.m., the students will read the 

question paper only and will not 

write any answer on the  

answer-book during this period. 

ñdMm{bV 
AUTOMOTIVE 

{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ 60 

Time allowed : 3 hours Maximum Marks : 60  
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gm_mÝ` {ZX}e : 
{ZåZ{b{IV {ZX}em| H$mo ~hþV gmdYmZr go n{‹T>E Am¡a CZH$m g™Vr go nmbZ H$s{OE :  

(a) Bg àíZ-nÌ _| Xmo IÊS> h¢  IÊS> H$ … amoµOJma H$m¡eb Am¡a IÊS> I … {df` H$m¡eb & 

(b) IÊS> H$ … amoµOJma H$m¡eb (10 A§H$) 
(i)  {XE JE 6 àíZm| _| go {H$Ýht 4 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 1 A§H$ H$m h¡ & 
(ii)  {XE JE 5 àíZm| _| go {H$Ýht 3 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 2 A§H$ H$m h¡ & 

(c) IÊS> I … {df` H$m¡eb (50 A§H$) 
(i)  {XE JE 12 àíZm| _| go {H$Ýht 10 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 1 A§H$ H$m h¡ & 
(ii)  {XE JE 7 àíZm| _| go {H$Ýht 5 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 2 A§H$ H$m h¡ & 
(iii)  {XE JE 7 àíZm| _| go {H$Ýht 5 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 3 A§H$ H$m h¡ & 
(iv)  {XE JE 5 àíZm| _| go {H$Ýht 3 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 5 A§H$ H$m h¡ & 

(d) Bg àíZ-nÌ _| 42 àíZ em{_b h¢ {OZ_| go 30 àíZm| Ho$ CÎma XoZo h¢ & 
(e) g^r àíZm| Ho$ {deof ^mJ /IÊS> H$mo ghr H«$_ _| H$s{OE &   
(f) A{YH$V_ g_` 3 K§Q>o h¡ &  

IÊS> H$ 
 (amoµOJma H$m¡eb)  

{XE JE 6 àíZm| ‘| go {H$Ýht Mma  àíZm| Ho$ CÎma Xr{OE & àË¶oH$ àíZ 1 A§H$ H$m h¡ & 14=4 

1. Xmo `m Xmo go A{YH$ gå~pÝYV {dMmam| H$mo EH$ dmŠ` _| Omo‹S>H$a, {Oggo h_| n`m©ßV gyMZm 
{_bVr h¡, Eogo dmŠ` H$mo ___________ H$hVo h¢ & 1 

(A) gH$mamË_H$ dmŠ` 
(B) gmYmaU dmŠ` 
(C) g§`wº$ dmŠ` 
(D)  àíZdmMH$ dmŠ` 

2. {H$gr H$m_ H$mo BZm_ nmZo Ho$ {bE `m XÊS> go ~MZo Ho$ {bE H$aVo hþE `{X H$moB© ì`{º$ ~mø 
VmH$Vm| go à^m{dV hmoVo hþE _hgyg H$aVm h¡ Vmo Eogo à^md H$mo ______________ H$hVo h¢ & 1 

(A) ñdàoaUm 
(B) ~mø àoaUm 
(C) emar[aH$ àoaUm  
(D)  Cn`w©º$ _| go H$moB© Zht  

3. gm_mÝ` ì`{º$Ëd {dH$ma {Og_| ì`{º$ `h gmoMVo hþE {H$ Cgo CgHo$ Amg-nmg Ho$ bmoJ 
ngÝX Zht H$aVo, H$m\$s ~¡MoZ d {MpÝVV ahVm h¡, Eogo ì`{º$Ëd {dH$ma H$mo ___________ 
H$hVo h¢ & 1 
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General Instructions : 

Read the following instructions very carefully and strictly follow them : 

(a) This question paper consists of two parts viz. Section A : Employability 

Skills and Section B : Subject Skills.  

(b) Section A : Employability Skills (10 Marks) 
 (i) Answer any 4 questions out of the given 6 questions of 1 mark each. 
 (ii) Answer any 3 questions out of the given 5 questions of 2 marks each. 

(c) Section B : Subject Skills (50 Marks) 
 (i) Answer any 10 questions out of the given 12 questions of 1 mark 

each. 
 (ii) Answer any 5 questions out of the given 7 questions of 2 marks each. 
 (iii) Answer any 5 questions out of the given 7 questions of 3 marks each. 
 (iv) Answer any 3 questions out of the given 5 questions of 5 marks each. 

(d) This question paper contains 42 questions out of which 30 questions are to 

be answered. 

(e) All questions of a particular part/section must be attempted in the correct 

order. 

(f) The maximum time allowed is 3 hours.    

SECTION A 

 (Employability Skills)  

Answer any four questions out of the given 6 questions of 1 mark each : 14=4 

1. A sentence, which allows us to share a lot of information by combining 

two or more related thoughts into one sentence, is called _____________ . 1 

(A) Affirmative sentence  

(B) Simple sentence 

(C) Compound sentence  

(D) Interrogative sentence  

2. When a person feels driven by outside forces, for performing an activity 

either to obtain a reward or to avoid punishment, it is called   1 

(A) Self motivation 

(B) External motivation 

(C) Physiological motivation   

(D) None of the above  

3. The common personality disorder, in which a person feels extremely 

nervous and worried, thinking he/she is not liked by people around him, 

is called ____________ . 1 
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4. ñbmBS> Ho$ ~hþV N>moQ>o à{Vê$n, Omo {H$ EH$ nona erQ> na {àÝQ> hmoVo h¢ Am¡a {OÝh| Xe©H$m| H$mo 

g§X^© Ho$ {bE {X`m Om gH$Vm h¡, BÝh| ___________ H$hVo h¢ & 1 

(A) àOoÝQ>oeZ 

(B) ñbmBS 

(C) h¡ÝS>AmCQ>²g 

(D)  ñnrH$a ZmoQ> 

5. CÚ{_Vm {dH$mg H$m dh MaU {Og_| g§^mì` CÚ{_`m| _| é{M Ed§ OmZH$mar n¡Xm H$s OmVr 

h¡, Bg MaU H$mo _____________ H$hVo h¢ &  1 

(A) Mm¡Wm MaU 

(B) AmÝV[aH$ MaU 

(C) nw{îQ> AdñWm   

(D)  CÎmo{OV AdñWm 

6. har B_maV ___________ H$s g_ñ`m Ho$ hb {ZH$mbZo H$m Adga àXmZ H$aVr h¡ & 1 

(A) d¡{œH$ n[adV©Z  

(B) µJar~r 

(C) Am¡Úmo{JH$ {dH$mg 

(D)  ~oamoµOJmar 

{XE JE 5 àíZm| ‘| go {H$Ýht VrZ àíZm| Ho$ CÎma Xr{OE & àË¶oH$ àíZ 2 A§H$ H$m h¡ & 23=6 

7. ‘Am{Q>©H$b amBqQ>J’ go Amn Š`m g_PVo h¢ ?  2 

8. ‘g_mO-{damoYr’ ì`{º$Ëd {dH$ma Ho$ ~mao _| {b{IE & 2 

9. \$m°_y©bm ~ma go Amn Š`m g_PVo h¢ ?  2 

10. CÚ{_Vm Ho$ H$moB© VrZ \$m`Xo (bm^) {b{IE &  2 

11. B©-doñQ> _¡ZoO_oÝQ> go Amn Š`m g_PVo h¢ ?  2 
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4. Very small images of slides printed together on a sheet of paper, which 

can be given to the viewers for reference, is called ____________ . 1 

(A) Presentation 

(B) Slide 

(C) Handouts 

(D) Speaker note 

5. The entrepreneurship development phase, which involves generating 

interest and awareness among potential entrepreneurs, is called 

______________ .  1 

(A) Fourth phase  

(B) Inner phase  

(C) Sustenance phase 

(D) Stimulatory phase 

6. Green building offers a chance to be part of the solution to  1 

(A) Global change   

(B) Poverty  

(C) Industrial growth  

(D) Unemployment 

Answer any three questions out of the given 5 questions of 2 marks each : 23=6 

7. What do you understand by Article Writing ? 2 

8. Write about ‘Anti-social’ personality disorder. 2 

9. What do you understand by Formula bar ?  2 

10. Write any three advantages of entrepreneurship. 2 

11. What do you understand by E-Waste Management ? 2 
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IÊS> I 

 ({df¶ H$m¡eb)  

{XE JE 12 àíZm| ‘| go {H$Ýht 10 àíZm| Ho$ CÎma Xr{OE & àË¶oH$ àíZ 1 A§H$ H$m h¡ & 110=10 

12. Cƒ X~md dmbm E`a H$åà¡ga __________ X~md {dg{O©V H$a gH$Vm h¡ & 1 

(A) 500 psi go ZrMo  

(B) 1200 psi go D$na 

(C) 1000 psi go D$na 

(D)  800 psi go ZrMo 

13. EH$ hñVMm{bV H$ma dmea _| EH$ BbopŠQ́>H$ _moQ>a hmoVr h¡, Omo H«¡$ÝH$ Ed§ {nñQ>Z H$mo 

_____________ H$s _XX go MbmVr h¡ &  1 

(A) BªOZ 

(B) OZaoQ>a 

(C) M¡Z 

(D)  V-~oëQ> 

14. _moQ>a dmhZ, Omo {H$ gm_mÝ`V: nd©Vr` g‹S>H$m| na MbVo h¢, CZ_| __________ {X`m OmVm 
h¡ & 1 

(A) gH$mamË_H$ H¡$å~a 

(B) eyÝ` H¡$å~a 

(C) ZH$mamË_H$ H¡$å~a 

(D)  Cn`w©º$ _| go H$moB© Zht  

15. ì`mnH$ ê$n go H$mam| _| {H$g Q>mBn H$m pñQ>`[a¨J {J`a ~m°Šg H$m Cn`moJ hmoVm h¡ ? 1 

(A) dm°_© Am¡a goŠQ>a  

(B) dm°_© Am¡a amoba 

(C) a¡H$ Ed§ {n{Z`Z 

(D)  [agHw©$boqQ>J ~m°b Q>mBn  
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SECTION B 

   (Subject Skills)  

Answer any ten questions out of the given 12 questions of 1 mark each : 110=10 

12. High pressure Air Compressor can discharge the pressure  1 

(A) Below 500 psi  

(B) Above 1200 psi 

(C) Above 1000 psi 

(D) Below 800 psi 

13. A manual car washer consists of an electric motor, which moves the 

crank and piston with the help of a/an  1 

(A) Engine 

(B) Generator 

(C) Chain  

(D) V-belt 

14. The vehicles which are generally running in hilly roads, are given  1 

(A) Positive camber  

(B) Zero camber 

(C) Negative camber 

(D) None of the above  

15. Which type of steering gear box is widely used in cars ?  1 

(A) Worm and sector  

(B) Worm and roller  

(C) Rack and pinion  

(D) Re-circulating ball type  
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16. br\$ pñà¨J ___________ go ~Zo hþB© AZoH$ dH«$ ~¢S>, {OÝh| brd²µO H$hVo h¢, go {_bH$a 

~Zr hmoVr h¢ & 1 

(A) H$mñQ> Am`aZ 

(B) pñà¨J ñQ>rb 

(C) Eoë`y{_{Z`_ 

(D)  _mBëS >ñQ>rb 

17. BªOZ go ìhrb VH$ nmda hñVmÝVaU Ho$ Am{Iar MaU H$mo __________ H$hVo h¢ & 1 

(A) {S>\$a|{e`b 

(B) Q´>mÝg{_eZ 

(C) àmonoba emâQ> 

(D)  \$mBZb S´>mBd 

18. hþŠg Om°BÝQ> (H«$m°g `m ñnmBS>a Q>mBn Om°BÝQ>) bJo hþE àmonoba emâQ> H$m A{YH$V_ PwH$md 

__________ hmoVm h¡ & 1 

(A) 10  

(B) 15  

(C) 20  

(D)  25  

19. _moQ>a dmhZ Ho$ S>r.gr. OZaoQ>a H$s dmoëQ>oO ApñWaVm H$mo __________ H$_ H$aHo$ bJ^J 

eyÝ` H$a {X`m OmVm h¡ & 1 

(A) Ama.nr.E_. KQ>mH$a> 

(B) grarO _| H$m°Bbm| H$s g§»`m ~‹T>mH$a 

(C) H$m°Bbm| H$s g§»`m KQ>mH$a > 

(D)  Ama.nr.E_. ~‹T>mH$a 
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16. Leaf springs are made of a number of curved bands of _____________, 

called leaves. 1 

(A) Cast Iron 

(B) Spring Steel 

(C) Aluminium  

(D) Mild Steel 

17. Last stage of power transfer from engine to the wheels is called  1 

(A) Differential  

(B) Transmission 

(C) Propeller shaft  

(D) Final drive 

18. Maximum inclination of propeller shaft fitted with Hooke’s Joint (cross or 

spider type joint) is  1 

(A) 10 

(B) 15 

(C) 20 

(D) 25 

19. In an automobile DC generator, the voltage fluctuation has been reduced 

to almost nil by _______________ . 1 

(A) Reducing rpm 

(B) Increasing number of coils in series 

(C) Reducing number of coils  

(D) Increasing the rpm 
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20. BªOZ Ho$ BZQ>oH$ _¡{Z\$moëS> _| àË`oH$ BZQ>oH$ dmëd Ho$ nrN>o ì`dpñWV â`yb BZOoŠQ>a 

BbopŠQ´>H$b gm°{bZm°`S> h¢ Omo {H$ __________ go g§Mm{bV hmoVo h¢ & 1 

(A) BboŠQ´>mo{ZH$ {Z`ÝÌU BH$mB©  

(B) ~¡Q>ar 

(C) W_m}ñQ>oQ> 

(D)  Cn ẁ©º$ _| go H$moB© Zht 

21. AmYw{ZH$ _moQ>a dmhZ OZaoQ>a Xmo nmob, Xmo ~«e Ed§ __________ {H$ñ_ Ho$ h¢ & 1 

(A) grarµO dmCÝS> 

(B) EH$b dmBpÝS>¨J 

(C) µ\$sëS> dmBpÝS>¨J 

(D)  eÝQ> dmCÝS> 

22. {J`a dmbo Xmo n{h`m dmhZ, _moQ>a H$ma, Q´>oŠQ>a d Zm°Z Q´>mÝgnmoQ>© dmhZ Ho$ {bE S´>mBqdJ 

bmBgoÝg àmßV H$aZo Ho$ {bE EH$ ì`{º$ H$mo __________ df© H$s C_« nyar H$aZr Mm{hE & 1 

(A) 18 

(B) 20 

(C) 16 

(D)  21 
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20. The fuel injectors, arranged in the intake manifold behind each intake 

valve, are electrical solenoids, which are operated by the  1 

(A) Electronic Control Unit   

(B) Battery 

(C) Thermostat  

(D) None of the above  

21. Modern automobile generators are the two pole, two brush and _________ 

type. 1 

(A) Series wound 

(B) Single winding  

(C) Field winding  

(D) Shunt wound 

22. For obtaining driving licence for two wheelers with gear, motor car, 

tractor and other non transport vehicle, a person should have completed 

___________ years of age. 1 

(A) 18 

(B) 20 

(C) 16 

(D) 21 
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23. ZE {ZOr dmhZ Ho$ {bE ewê$ _| {\$Q>Zog H$s d¡YVm __________ Ho$ {bE hmoVr h¡ & 1 

(A) 20 df© 

(B) 10 df© 

(C) 5 df© 

(D)  15 df© 

{XE JE 7 àíZm| ‘| go {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OE & àË¶oH$ àíZ 2 A§H$ H$m h¡ & 25=10 

24. E`a H$åà¡ga Ho$ {H$Ýht Xmo AZwà`moJm| H$mo {b{IE & 2 

25. ñQ>r`[a¨J H$m Ho$ÝÐ {~ÝXþ Š`m h¡ ? 2 

26. AZñà§J doQ> Ho$ Am°grboeZ Ho$ gå~ÝY _| dmBÝS>-An H$mo n[a^m{fV H$s{OE & 2 

27. àmonoba emâQ> Ho$ {H$Ýht Xmo H$m`m] H$mo {b{IE & 2 

28. H«¡$ÝH$-emâQ> goÝga H$s Š`m Cn`mo{JVm h¡ ? 2 

29. gñn¡ÝeZ {gñQ>_ _| AZñà§J doQ> go Amn Š`m g_PVo h¢ ? 2 

30. S´>mBqdJ bmBg|g àmßV H$aZo Ho$ {bE ZmJ[aH$Vm H$s d¡YVm à_m{UV H$aZo hoVw Amdí`H$ 
{H$Ýht Xmo XñVmdoµOm| Ho$ Zm_ {b{IE &   2 

{XE JE 7 àíZm| ‘| go {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OE & àË¶oH$ àíZ 3 A§H$ H$m h¡ & 35=15 

31. hm°BñQ> Ho$ g§MmbZ _| ~aVZo dmbr {d{^Þ gwajm gmdYm{Z`m| H$mo {b{IE &  3 

32. nm°da ñQ>r`[a¨J {gñQ>_ Ho$ \$m`Xo (bm^) {b{IE & 3 

33. br\$ pñà¨J Ho$ BÝQ>abr\$ Kf©U H$mo H$_ H$aZo H$s VH$ZrH$ H$s ì`m»`m H$s{OE & 3 

34. Q>m°agZ ~ma pñà¨J H$s {deofVmE± {b{IE & 3 

35. EH$ ñHo$M (aoIm{MÌ) H$s ghm`Vm go \$mBZb S´>mBd Ho$ hmBnm°BS>> {J`a Q>mBn H$s ì`m»`m 
H$s{OE & 3 

36. Am°ëQ>aZoQ>a _| aoŠQ>r\$m`a H$m Š`m H$m_ h¡ ? 3 

37. {H$Ýht Mma MoVmdZr XoZo dmbo g‹S>H$ gwajm g§Ho$Vm| Ho$ Zm_ {b{IE & 3 
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23. For a private new vehicle, the initial fitness is valid for ___________ . 1 

(A) 20 years 

(B) 10 years 

(C) 5 years 

(D) 15 years 

Answer any five questions out of the given 7 questions of 2 marks each : 25=10 

24. Write any two applications of an Air Compressor. 2 

25. What is centre point of steering ?  2 

26. With relation to the oscillation of unsprung weight, define wind-up. 2 

27. Write any two functions of propeller shaft. 2 

28. What is the use of crank-shaft sensor ? 2 

29. What do you understand by unsprung weight in suspension system ? 2 

30. Name any two documents valid for proof of citizenship in obtaining 

driving licence. 2 

Answer any five questions out of the given 7 questions of 3 marks each : 35=15 

31. Write different safety precautions to be observed while operating hoist. 3 

32. Write the advantages of power steering system.  3 

33. Explain the technique to reduce the interleaf friction of leaf spring. 3 

34. Write the characteristics of Torsion Bar Springs. 3 

35. With the help of a sketch, explain hypoid gears type of final drive. 3 

36. What is function of rectifier in an alternator ? 3 

37. Name any four cautionary road safety signs. 3 
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{XE JE 5 àíZm| ‘| go {H$Ýht VrZ àíZm| Ho$ CÎma Xr{OE & àË¶oH$ àíZ 5 A§H$ H$m h¡ & 53=15 

38. ñnmH©$ ßbJ ŠbrZa Ho$ H$m_ H$aZo H$s à{H«$`m {b{IE & 5 

39. ñQ>r`[a§J {gñQ>_ Ho$ g_ñ`m {ZdmaU Ho$ AÝVJ©V {ZåZm§{H$V g_ñ`mAm| Ho$ H$maU, 
CnMmamË_H$ H$m`©dmhr g{hV {b{IE :  5 

(i) hmS>© ñQ>r`[a§J 

(ii) dmhZ H$m EH$ Va\$ H$mo qIMmd 

(iii) AË`{YH$ ßbo AWdm T>rbmnZ 

40. ar`a EoŠgb Ho$ {d{^Þ H$m`m] H$mo {b{IE & 5 

41. ñQ>mQ>©a g{H©$Q> H$m {MÌ ~ZmBE Am¡a ñQ>m{Q>ªJ {gñQ>_ Ho$ nmQ>©²g Ho$ Zm_ {b{IE & 5 

42. {ZåZm§{H$V g‹S>H$ gwajm g§Ho$Vm| Ho$ {MÌ ~ZmBE :  5 

(i) àdoe {ZfoY 

(ii) ~mE± _w‹S>Zm {ZfoY 

(iii) H«$m°g-amoS> 

(iv) MŠH$aXma 

(v) ImZo H$m ñWmZ (BqQ>J ßbog) 
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Answer any three questions out of the given 5 questions of 5 marks each : 53=15 

38. Write the procedure of working of spark plug cleaner. 5 

39. Write the causes of following trouble-shooting of steering system with 

their remedial actions :  5 

(i) Hard steering  

(ii) Vehicle pulls to one side  

(iii) Excessive play or looseness  

40. Write the various function of rear axle. 5 

41. Draw a starter circuit and write the names of parts of starting system. 5 

42. Draw the following road safety signs :  5 

(i) No entry 

(ii) Left turn prohibited  

(iii) Cross-road  

(iv) Roundabout 

(v) Eating place  

 


